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Question Paper for the selection of Goods Guard , GP Rs2800/-(level-5) in Operating
department against departmental quota.

Instructions to Candidates —

1) Question Paper is 100% objective with 4 options A,B,C,D.

2) Question Paper is in both English and Hindi

3) There is 1/3™ negative marking for each wrong answer

4) Total 110 questions are there along with 10 optional questions of rajbhasha from 101 to
110. These 10 questions of rajbhasha are optional , candidates may or may not attempt
these questions. :

5) Candidate needs to solve 100 questions . Each question is of 1 mark.

6) Mobiles/calculators/pagers are not allowed in exam hall. Candidates may be debarred
for the same.

7) Candidates should not write their name, initials, signatures, hari om etc or any other
identification mark on the answer sheet.

8) Only blue or black pens are allowed to mark answers.

9) Incase of any ambiguity English portion of the test should be taken as authentic.

10) No corrections are permitted in the answer sheets. In case any correction is made
answers may not be evaluated at all.

11) Answers to first 100 attempted questions out of 110 will be evaluated and excess
answers will not be considered.
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1) #=ree Aa Aol B st ¥ wees 2o 7 sy oy st 22
Working time table issued with the joint signatures of ?
(A) PCOM+ CSO  (B) PCOM+ CPTM - (C) PCOM+ CFTM (D) PCOM+ CTPM

2)  TEIT T T THT FF TOMAT & G Far<T AL % 91 § 5.0 kg/om? Ud 3477 # frrfr
w7 G917 T ATAT ZAT ATRA?
Amount of air pressure in the engine is 5.0 kg/cm?2. How much should be in brake van of
a passenger train at the starting station?
(A) 5.8 kg/em? (B) 4.8 kg/em? (C) 6.0 kg/em? (D) 5.0 kg/cm?

3) wrerTEt F g # e fHY o v @  ofrr s 8

What mm of flat tyre is permitted in the locomotive of a goods train.
(A) 40 (B) 50 (C) 55 (D) 60

4) o TET I g AT T F G Y a9 TS o AT Ay R § grey adT e H A A
e gaféa wom

Guard shall show hand by day and what signal by night to the S.M. if the train is
standing clear of fouling mark.
(A) Tz T+t / White light
(B) 41 7t / Green light
- (C) gz =T IUC-H= / White lamp vertically up and down
(D) ¥ aft 3T =T / Green lamp vertically up and down

5) ©FATH A EHT Fit srfrwaw Ay frae Sree?
“Maximum speed of ‘A’ class ODC ?
(A) FFFa« wifat / Sectional speed (B) 60 (C) 40 (D) 25

6) TS T ¥ ATSrRT ¥ waer ey A gefenr 2t 82
Train entering into the sand hump is which type of accident.
(A)farfra zgw / Averted Collision (B)yaifa= g¥enT /indicative Accident
(C) SPAD (D)3I9<reh & #1E 7l / None of these

7) sferraw say iy e g Putfa fr s 22
Maximum permissible speed is determined by whom. ?
(A) CTPM (B) PCOM (C) DRM (D) CRS
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7Tz A1E W U F FT AT A efense § o w9y aftewaw iy fre S

What is the Maximum speed of a train while running through over 1 in 8 % turn-out with
curved switch ?

(A) 20 km/h (B) 10 km/h (C) 15km/h (D) 40 km/h

9) Fardt wfe wideret £t STt B § 2T 2
Information of permanent speed restrictions is provided in ? :
(A) SWR (B) WTT (C) T/409 (D) ST T+t /All of these

© 10) T faEE g ux e R # e v e R

In case of train parting, Guard shall show which signal by day?
(A) @7 /<t / Red flag

(B) &%t %<t F9<-A= / Green flag vertically up and down
(C) &%e &<t I9L-+1= / White lamp vertically up and down
(D) &¥t a<ft IuT-A= / Green lamp vertically up and down

11) HETAAT 0 AT § TEH AT 1 979 T2l T AF97% 212
Before demanding the assisting engine, train is to be protected from which side?
(Ayfie i AT Jrear side (B) & #t ArY/Direction in advance
(C)ZTT AT /both direction (D) 7% & #E 7Ll /none of these:

12) 71 % g9 g Ferrer <t & a1 Dot SUeey 7 a7 @awr G O YT F 24T
If red light fails in hand signal lamp, how the danger signal will be shown ?
(A) &8 et orfiT F e T AT A7 A & R T violently waving a green light
horizontally across the body - "

(B)zft a<ft Iu-A1¥  /Green lamp vertically up and down
(C) 7% aft ITT-+1= /White lamp vertically up and down

(D) & &t or€iT ¥ qrwa s aTd 9§ A7 & RET % violently waving a white light
horizontally across the body

13) et Trga Wit Erger e 89 7= e amg & Peverar R
Medical relief van shall be dispatched within how many time from double exit siding?.
(A)fa % 30/30 minutes in day time -(B) 11 # 45/ 45minutes in night time
(C) 15 Tz /15 minute (D)20f¥z /20 minute



14) sr=arA TEZAETET SaTa & g9 gt e A v freet e
What is the speed of second train during temporary single line working ?
(A) 25 kmph (B) 30kmph (C) #TmaT=1/Normal (D) 15/10 kmph

15) ZE7ie: ATATATT A F AEHA F TR THITTT7 T) 74T SE (Sig) ¥ Zearere 21 & aur
FHzTEETE B % B 82
Gateman competency certificate of interlocked traffic gate is signed by Tl and SE (Sig)
and counter signed by whom?
(A) DSO (B) ADSTE (C) AOM (GEN) (D) SSE (P.WAY)

16) @ 1% Tl =gaaw geaar 4 & fars a1 73 a9 9 9 e s swar 2

When a signal is not visible from its minimum sighting distance, which signal is

provided?
(A)TgETt famae/co-acting signal (B) frdifésr Rt/ Repeating signal
(CyarferT s f&wet /calling on signal (D) I & FIT TEI /none of these

17) AT THET T AT Al w4 A | e 97 forar e
Normally the train with hot axle is admitted on which line?
(A) TT ATE /loop line (B) At T AT /non running line
(C) Fiw= Fua«TEa /common loop line (D) ¥+ @T$A/main line

18) T "=t FT fFaar THAT g 9T IF AT gefeAT AT AT
How much loss of Railway property will be considered as a serious accident?
(A) % 25 @@ ¥ yfdrF/more than Rs. 25lakhs.
(B) ® 2012 & &% /more than Rs 20crore.
(C)% 25%<r2 & 3f&r® /more than Rs 25crore.
(D) % 2%%rE & f&r= /more than Rs 2crore.

19) grarvor At & giads e & gy T smar 82
Changes in General rules are done by whom?
(A) =2 @€ /Railway board (B) &= T#/zonal railway
(C)¥ |2 <k /CRS (D) =2 Wt a1€ /Railway recruitment board



20) #1917 TrEH LA AT TAFRT 9 § 47 et 82

Information about caution notice stations is given in?

(A) St & Tq 3T /G&SR (B) Zer=a1 Rawma«fi/accident manual
(C)=zora afdar 1 /SWR (D) At gy Za=/WTT
21) Zré= ot forer i ggeem % Fory 2 22
Height gauge is for the safety of?
(A) T=Ta/Track (B) str=r$/OHE
(C) #HqT¥/Level crossing (D) =T [Train

22) 7z Fret/ereas u Reammrtes(distt) f % g dar frar smar &2
Who prepares the VG at big stations /yards?
(A) T F4/ Train clerk ~ (B) &/ guard
(C)&zer |12/ station master (D) «ifésr AT€¢/ shunting master

23) #Arfiedt Frasrgr daTe T Srar 2
BPC is prepared by whom?
(A) T F1%/ Train cleark (B) ¥/ guard
(C)xer uTeet/ station master (D) &t 98iers / train examiner

24) T FATH AT I WL FT ATEA fFa7 39 F are w2t q qfew i o wwdr 22
After granting line clearat a B class station, shunting can be performed up to?
(A) =it &9 Block section. - (B)RrifiT e /signaling section
(C)=z9r= &%/ station section (D) @+t / all of these |

25) sifdwr & fordr stffrshTe o ;4T 82 What is the éuthority for shunting?
(A) T/369(3b) (B) T/A602 (C)T/1410 (D) T/806

26) TTET F2AT | o TS AT HfAT WY HT AT THAAE TF TE F G797 7 3ma ware waaw
=1f24? What should be exchanged with train crew while train is passing through the
station by the cabin master?

(A) aiter TrEe /Al right (B) =if=t T /all wrong
(C)Fa grarfonly hand (D) =T f&wret / Red signal



27) #faa wree Far 3@ F g Far e B md o s 42
What seeing Cabin master ensures that the train has arrived completely?

(A) Z 7 / Tail lamp (B) == 7T /Tail board
(Cyrar#t /AOrB (D) =7 7 F1£ 7ET /none of these.
28) TA/THFTYH ATE § IT I FRETAIAT FTAT?
' In Mail / Express train where the dead lbco will be attached ?
(A) Z59 ¥F ag; Next to Engine (B) F51 & g@wT;2n fromEngine
(C)Est # #1\r;3 dfrom Engine (D) 7&T &RT; Wil not attached

29) AT AT N T X A TR T W ¥ srfrwerw R Frranhe
What will be the maximum speed of the train while passing the train from non-interlock
point?
(A) 10km/n (B) 15km/h  (C)30 km/h (D) 50 km/h

30) SFITE HAFAT AU FT A9 74T 2/ What is the number of the temporary caution order?
(A) T/A1425 (B)T/A409 (C)T/B409 (D) T/ 409

31) Rerrarafzrt erwar faeft &l £2/ What is capacity of a slip siding?
(A) 34T 4 378w #it daTE® I /length of 3 or 4 vehicle
(B) 4 71 5 ATE ¥ FaTsH T length of 4 or 5 vehicle
(C) 541 6 aTgT Hit @aTsH TUET /length of 5 or 6 vehicle
(D) T¢1 <t Fit FaTEer awrE /length of full train.

32) et a7 Feer ATERAT & s RrawTe A e £
Train entering into slip siding is which type of accident?
(A) frorrt et geFeT/consequential train accident
(B) aT€ gHeA1 yard accident |
(C) wiswfae geen/ indicative accident
(D) sraaTer gHeAT/ unusual accident
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What willtake the Station master. from gateman in assurance of gate closed otherwise
what will be issued.

(A) Iz 3 T A9, =TT /Name of gateman, key

(B) UTSaE F4¥ , ®aHaT smeePrivate Number/ Caution order

(C) Tz =1 fefrHieT 4%, = 1 =T8U™ Kilometer of gate, Diagram of gate

(D) HEISIT T ATH, AT F7 57 F=9wName of controller, Engine number of train

34) Faer faera MRTT ¥ JrATATT T STAwT FIAT BA AT SATF FgeATaT F
Which types of block is considered when blocking of a section of line to electric traffic
only :
(A) Power Block/ 91a< =T
(B) Traffic Block ¥ =t
(C) Power and Traffic block/ aTa® a1 &k s
(D) Corridor Block /FT=€TT =T

35) TF &Y UTIAS T HEF AT AT T UF FAY T G HCA AT ST FYHT FET AT
Place where trains and road cross each other is called as
(A)T2/ Gate ; (B)#Ti¥iAT/Crossing
(C)aware/ Level Crossing (D)SSIT ST/ Danger Zone

36) e F F ofE R A7 o 7 O FA F e A1 & af¥w o 9 frar smoar?
For passing shunt signal at on during shunting, which authority will be issued?
(A) T/409  (B) T/369(3b) (C) T/806 (D) T/369(1)

37) eifdw it srferaw i 747 §2What is the maximum speed of shunting?
(A) 8 km/h (B) 15 km/h (C). 10 km/h (D) 25 km/h

) et Tt et i sfrraw vfy R 2
What is the maximum shunting speed of passenger train?
(A) 8 km/h (B) 15 km/h (C) 10 km/h (D) 25 km/h



39) e T § 5 Y A U Ao gm0 G fizy a7 S0 Fr QA AT
While attaching an engine to a passenger train, it shall be stopped at which meter before
the train? :
(A)15m (B) 20 m (C)10m (D) 25 m

40) faraT o 71 f wreESt qw i wquta feE gr & S &2

Permission to run goods train without brake van is given by whom?
(A) TUTH H&T TREATET Ya4H/ PCOM

(B) #=# Y& wau® /DRM

(C) afx. weer gf=ma= wau# /Sr. DOM

(D) wgras TRETET yews / AOM

41) FAHAT A2 (T/409)FET ATEETGIT F ST f3harT SiraT 872
When speed restrictions T/409 is issued?
(A) warft 7 widayr &/ for permanent speed restrictions
(B) sreardt arfar witerer g/ for temporary speed restrictions
(C) Fuirsr 21T g/ for both of above
(D)z=¥ & #I< 741/ none of these

42) e o o fo i it i w=fer 21

Which type of shunting is-performed on Central Railway?
-(A) g sifér/ Hand shunting . (B) wTE 9iféw1/ Flyshunting
(C) gor &< g 9if&r / Push & Pull shunting (D) 78 & Frg 7/ noneof these

43) gra et rafaamT % adaeror & £ st 21
Hand shunting is performed under the supervision of which department?
(A) af=Ters fasmr / Operating department
(B) svear fawmr / Safety department
(C) @it f4¥mT / Mechanical department
(D) w=e & ety / All of the above



44) ZATT AT TEAT G AT F7 7% 2579 Fhew 2T =iigul
Where should the engine be, while the shunting is performed at the station with down
gradient? ;
(A) 27 & /in the middle
(B) 9@ &t ¥/ in the rear
(C) @ it 3 / in the front
(D) F2T ot FIATAT AT TFHAT &/ anywhere

45) ATqTATE e {69 FFA §7 / Which is traffic gate?
(A) = FaT % siww feua / placed inside of station limit
(B) ®9r FATRIAA fawreei & #= fua/ placed inside outermost signal of station

(C) w2 Fargpau<rs Rt & 9= fR9a/ placed inside outermost stop signal of station
(D) I9%res ¥t/ all above. -

g
46) ATFT AT T AIE TAT FLQ AT AT A H Fhaey Frgay ¥ &2 3% 2y smae
How many wagon'’s hand brake pinned down at both end, while stabling box load?
(A) 10 -10 (B)5-5 (C)6-6 (D) 50%
47) T U TS & A Sree T SifeT it T T8 By Y T R AT F
While shunting a complete train from one line to the other, Guard shall be present in
the?
(A) F51 % 3Tl e H/in front cab of engine (B) &%aT #/in brake van
(C) 351 % f4asr %a §/ in rear cab of engine “ (D) 7% & #¢ AFt/none of these
48) AT AT qTATEa: e wwT F Ay 22 Normally material train will work during?
- (A) 77 &/ in night (B) & #in day
(C) #ft fi/ any time (D) T8 & %€ 7E/ none of these
49)7Td  qWT AT I °Y acd T fe@rm |

Which aspect is shown by Gate man at night?
(A) wHa/White (B)®&Green .(C) fieTYellow (D) 37 & 1§ éiNone of these



@

50. =1z S#919 4T §? What is neutral section ?
(A) st & fasTelt T w1/ powerless portion of OHE
(B) A FI1 VAT X WX v vwaiE = £ iy T 9T/ part between starter and ady.
Starter signal at ‘B’ class station.
(C)T FTH T2 IR TTEX AT w=TiH =1 ¥ fiy 777 st/ part between starter and adv.
Starter signal at ‘A’ class station.
(D) 397rew @1/ all above

51) What is the full form of BPAC? BPAC #T qe=w fafary 2
A) Block Proofing Axle Counter / set# ftT uareet srrawax
B) Block Proving Axle Counter/ sefe gfar waet Frgex

C) Big Prowing Axle Counter/ fart sfair et qarramet
D) None/ #1fa gt ’

52) What is the full form of WTT? WTT #r q=T frfary 2
A) Working time / affwr e
B) Work time table / a% arzq Faer
C) Working time table/ afdr =rzw Ya=r
D) None/ F1f¥ wfg

53) What is the full form of BPC? BPC =T A=y e 2
A) brake personal certificate / 25 THeT afifgre
B) brake power certificate / %% qra¥ afifre

C) blue power certificate/ = Tra< wféfrre
D) none/ #1fy afg

54) What is the full form of VG? VG &7 ge7 farfyr 2
A )Vehicle guidance / =gt TS
B) Vehicle guide / zgiwe w5

C) Vehicle goods / =% 5w
D) none/ F:1f afg
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55) What is the full form of PRS? PRS #1 [a&Y forfed ?
A) Passenger Remove system / T8 fogg feew
B) Passenger Reservation systern / Ta=i7 Rerdem g
C) Pass Reservation system / T frsrgee feew
D) None /&if¥ afg

56) What is the full form of PNR? PNR #T q#&7 farfed ?
A) Passenger Name Record/ &=7 77 Rats
B) Passenger Record/ &&= iz
C) Pass Name Record/ T 7% R&ig
D) none/ Ff T

57) What is the full form of BSLB? BSLB #1 T&7 forfed ?
A) Block section limit board/ =T &#er oz a1
B) block limit board/ sei® fafz a1
C) block side limit board/ =@t drze fafee a1
D) none/ A 7

58) What is the full form of DRM? DRM & e farfr 2
A) Divide Railway Manager/ fRarzz @ 531

B) Divisional Railway Manager/ fefasma= @ AT

C) Divisional Republic Manager/ f2fass ﬁql%a%' LR LY

D) none

59) Who is the current President of India? WTZa &T T&q I HI 37

A) S.D.Sharma/ T . €. &1

‘B) Ramnath Kovind/Tam #1fd
C) Pratibha Patil / wfawr arfes

D) none/ Iy 7t

60) Which state has a coastline? =7 # ¥ Fi=aT Uo7 a4z FMT 9§ ?

A) Madhya Pradesh B) Goa. C) Telangana D) Assam

61) e w9 e T § ST € 2 Betul station is in which state

A) Maharashtra B) Mgdhya Pradesh C) Rajasthan D) Chattisgarh



66

62) TATET TAq o@Er T ST § g ? Stapuda range is in which state?
A) Punjab B) Madhya Pradesh C) Rajasthan D) Chattisgarh

63) zr 2 § wae s Trgafa 91ea & 217 97 (g 9 2 Recently which American President
came to visit india ?

A) Barak Obama/ aI<T% Sr&ETHT
8) Donald Trump/ SHTeE T77

C) George Washington/stist atfermes
D) none/ #Ifar 7t

64) g1 12 & Frar ara gAat & e w21 & ? Recently which Virus is affecting most of the
world?

A) Cat virus B) Corona Virus C) Computer virus D) none

65) Zfat & gad $AT 9dq AT 82 Which is the tallest mountain in the world?
A) Mount Everest B) Mount Kilimanjaro C) K2 d) none

66) 7 | T HITE ATZ AT S & [WLAT & 2 which river flows through Nagpur division
A) Ganga B) Krishna C) Wardha D) none

67) AT e F TEGH HE Y YAUF F1 & 2 Who is DRM Nagpur ?
A) Somesh Kumar/ 818 FHTC
B) Sagar Kumar/ 9T FHTC
C) Sachin Kumar/ 3= $81X
D) none / % 7fg

68) e &= & "= HieT UST FW4T § ? Name the smallest state in following?
A) Maharashtra B) Uttar Pradesh C) Goa D) Rajasthan

69) ft. ft firy o &« & X & ? P.V.Sindhu is related with which game?
A) Cricket B) Tennis C) Badminton D) Football



70) fegfer semar fFm @ & 2T & 2 Sawiti Mandhana is related with which game ?
A) Cricket B) Tennis C) Badminton D) Football

71) B F9 FE @ F JET § 7 Mary Kom is related with which game ?
A) Cricket B) Tennis C) Badminton D) Boxing

72) wed Y= #1 ZRTI Fg7 f2ua #2 Central Railway ZRTl is located where
A) Nagpur B) Bhusaval C) Mumbai D) Solapur

73) 9TLA | aget X& ML F 7T 2 When did the first train run in India?
A) 1800 B) 1853 C) 1900 D)1947

74) e fasr % e @< # fRaa #7 India lies in which continent in the world 2
A) Africa - B) Americas C) Asia D) none

75) T AT9T WA F A T & s wv & et sy 22 Telgu is the primary language of
which state
A) Telangana B) Andhra Pradesh C) Goa D) both A and B

76) sgar e e sear & 927 30 § 2 chandrayaan mission is associated with which
organization? :
A)lIM B)IPL CNITI D)ISRO

77) AT % o AR F F 2 Who wass the first president of INDIA?
A) Dr. Rajendra Prasad/ Dr. Tr9ig w&12
B) Pandit Jawaharlal Nehru / 9@ sramgeare ag=
C) C. Rajgopalachari/ &t . TRTaT&T=T
D) Lokmanya Tilak / Frar= faers

78) o fAEw F& wEAT ST § 2 When is Republic Day celebrated
A)15 August B)26 January - C)26 February D)2 October

79) Ffde AT #7 Hew = ¥ 4w #1722 Who is the head of personal department at
divisional level?
A) SrDOM B) Sr.DFM C) Sr.DMM: D) Sr.DPO

¥



70) fegfer seraT B @9 & 21 & 2 Snviti Mandhana is related with which game ?
A) Cricket B) Tennis C) Badminton ) Footbal!

71) ¥ F9 T4 9 § =T § 7 Mary Kom is related with which game ?
A) Cricket B) Tennis C) Badminton D) Boxing

72) w&7 Yo %1 ZRTI g1 fRaa g2 Central Railway ZRTl is located where
A) Nagpur B) Bhusaval C) Mumbai D) Solapur

73) ATed § wgelt Y& AL FT 74 2 When did the first train run in India?
A) 1800 B) 1853 C) 1900 D)1947

74) e fopa % fr @< & o €2 India lies in which continent in the world ?
A) Africa - B) Americas C) Asia D) none

75) e[ STT WTCA * fA o & arfirew W & et STt 82 Telgu is the primary language of
which state
A) Telangana B) Andhra Pradesh C) Goa D) both A and B

76) wrzar faeer foe #eT & {27 g0 § ? chandrayaan mission is associated with which
organization? .
A)lIM B)IPL CNITI D)ISRO

77) s % s gl F1 & 2 Who was the first president of INDIA?
A) Dr. Rajendra Prasad/ Dr. T/5% THTZ
B) Pandit Jawaharlal Nehru / 9fR@ SraTg<en« 98«
C) C. Rajgopalachari/ & . TrsriraaT=TL
D) Lokmanya Tilak / Fr&ar= faer

78) Troraer fege wa w=TET STaT € ? When is Republic Day celebrated
A)15 August B)26 January C)26 February D)2 October

79) i AT # Wew ¥ ¥ 4T F19 2 2 Who s the head of personal department at
divisional level?
A) Sr.DOM B) Sr.DFM C) Sr.DMM D) Sr.DPO



80) TiveTers AR 7 e« TR ¥ {i¥am 719 £ ? Who is the head of Operating cepartment at
divisional level?
A) Sr.DOM B) Sr.DFM C) Sr.DMM D) Sr.DPO

81) AT FATT T §e W< ¥ YaT 19 2 2 Who is the head of Commercial department at
divisional level?
A) Sr.DOM B) Sr.DFM C) Sr.DCM D) Sr.DPO

82) =@t farsT #7 Hew T ¥ GRA4T F19 & ? Who is the head of Accounts department at
divisional level?
A) Sr.DOM B) Sr.DFM C) Sr.DMM D) Sr.DPO

83) =T faTT #7 Hew w0 ¥ Yf&ww #19 £ 2 Who is the head of Stores department at
divisional level?
A) Sr.DOM B) Sr.DFM C) Sr.DMM D) Sr.DPO

84) A train covers a distance of 1200 Kms in 4 hours. What is the average speed of the train?
va e AR °g¢ # 1200 el goht ¥ At ot @ dwd ot Aft
(A)150 Kmph (B)120kmph (C)100kmph (D)300kmph

85) A 3ir B d@ @1 3w 1000 feelt 1 Rt off Rt i firem =@ 100 Reofy. ofy @

o A Geearet g faed wea & gff @@ @it ? The distance between A and B is 1000 KMS. A

train running with 100 KMPH speed without stopping at any station will cover the distance in
how much time?
A) 15hour B)10hour C)20hour  D)30hour

186) U RUT AR A 20 W B 10 e T U ¥ A 15 Rae 515 @ B Raw F

femel @t fagh @t e fsaelt Teft v @M\ A station master has issued 10 tickets of Rs. 20
each and 15 tickets of Rs. 15 each. How much amount he collected by the sale of tickets?
A)250Rs. B)425Rs. C)375Rs. D)350Rs.

87) fordly mdr # R Tl areer & Rl kg & A w9 uraw gfAra feaar aem If all

cylinders of all wagons are operational what will be the brake power of that train?
A) 90% B) 100% C) 95% D)50%

88)Ff MY 3T 100km FY 262 F UR FFF ¥ e s6h T Readr e
If a vehicle covers a distance of 100km in 2 hrs whats will be its speed?
A) 100KMPH B)200KMPH C) 50KMPH D) 10KMPH

¥



89) OrSt #eel &I Req B TAIMAHALis locatedat

A)Pune B)Agra D)Hyderabad  D)Delhi
90) TR HeA W ......... °le ¥a9F AGE £ ... Ghat section are available in Nagpur division.
A) DHQ-MJY & TEO- CCD (B) BPQ-BUPH & WUN -RIR
C) SEGM-SLOR & BTBR-URR (D) JNO-PCLI & HRG-NVG

91.vs @1 @t fbaig 5.5 & a5 33 Bt P Roora @ At 2

A banana costs Rs. 5 what is the cost of 2 dozen bananas?

A)200Rs  B)300Rs. AY00Rs.  D)25Rs.
92 74 AL BT FHAAT B........... The Head Quarters of Railway board is at
A) New Delhi B) Mumbai C) Kolkata D) Bilaspur

93 .wél e et ¥1 major penalty is
A) SF-11 B)SF-5 C)SF-2 D)SF-1

94. 3UETd B A UEAT Gl FAT FEATdT ...,

First hour after andl accident is called
A)Silver hour B)Golden hour C)Platinum hour D) none

95. 7ezl X ¥ fpar f¥ATE 87 How many division are in Céntral Railway?
A)6 B)7 )3 D)4

96.Which is the headquarter of CR? 721 Yer @1 syearer avr 7
A)BHOPAL B)PUNE C)MUMBAI D)NAGPUR

97. Which station is in Nagpur division? #laer ¥ ammgg siger ¥ &2
A)badnera  B)secundrabad C) BUTIBORI D)itarsi

98.0DC @1 gei®u &1 & ? Fullform of ODC

A) Over Dimensional Consignment/3iar srsierter dwiiwdie
B) One Dimensional Consumes/ a1 3RI#RET ddedic
C) one Dimension Consignment/ 31a¥ sII#RE Hilesic

D) none / & @&

99. Which station is a lobby in Nagpur division? AR #iger & 37 & & @awt w2 W
LOBBY & ?
A)Badnera B)Amla C)Warora  D)itarsi



)

100 Which station is not in Nagpur ivision? $le@l FU ARG s F 8 ¢+

A)Moorsa  B)Makardhokda ) Butibori D) Manikgadh

101) 7TsraTaT R 3 | ey e o et 8
A)F B)™ C)F D

102 ) TTorTaT fRa & SqaTe wed g29r 6 O & arar

A)® B)@ C)T DF

103 ) TroraTaT 99 & Sgare oW o o 6 §

A)& B)®@ C)T DF

104 ) TrorATaT fFaw F e affe a3 e o 7 arar §

A)E B)® C)T DE

105 ) TrorsTeT fAEw F ST U e o W erar g

A)® B)E C)T DE

106) AT T it TSTHTNT 74T 572
Aygaamrer forfe % @< B) 3wy C) =i A 3T B D) NONE

107 ) frergrer |@feeme i sradt st § faraet arard wfeafea 82
A)22 B)20 C)15 D)27

108 ) TreraTeT A Fa aTRa ganr?
A) 1976 B)1985 C)1947 D) 2000

109) TrorsTaT T e qATAT AT §
A) 14 October  B)14November C)I14September D)l14December

110 ) Frr RS afafa & sreae w9 gra 22
A) werrrEEft B)ugufa C)ad wft  D)FfE 7t




